Bentley Cricket Club Inc

Sponsors 2003/04 Season

ARE

AiC Automation Instrumentation & Control Systems PA.

All Signi

All Welding Services

Bunnings Warehouse - Cannington

Canning Sports Club Inc

Carlisle Auto Audions

Carlton and United Breweries

CMS Services

Critical and Football Shop

Dominoes Pizza

Embroidery Plus

Emerald Hotel - Perth

Fortron

Franklin's Tavem

Greens Electrical Service

Harvey World Travel - Maddington

Healthways

Hungry Jacks

Kalamunda Bus Service

Kim Wilkie (MHR)

Mt Henry Bar and Emisserie

Mustang Bar

Newport 4 Hair

Nifty Cleaners

Professionals PT Peet & Son Pty Ltd - Belmont

Striker Welshpool

Survey Graphics

Sykes Transport

Toll Transport

Tony Morae (MLA)

Vic Pant Print & Copy Shop

Presentation Night

Season 2003/04



Friday 16th April 2004

www.bentleycc.com



Table of Contents

Presidents Repo	٢	١
-----------------	---	---

Coach's Report

5th Grade Grand Final Scorecard

Committee and Captains

1st Grade Report

1st Grade Batting and Fleiding

1st Grade Bowling

1st Grade Partnerships and Fielding Votes

3rd Grade Report

3rd Grade Batting and Fleiding

3rd Grade Bowling

3rd Grade Partnerships and Fielding Votes

5th Grade Report

5th Grade Batting and Fielding

5th Grade Bowling

5th Grade Partnerships and Fielding Votes

7th Grade Report

7th Grade Batting and Fielding

7th Grade Bowling

7th Grade Partnerships and Fielding Votes

8th Grade Report

8th Grade Batting and Fielding

8th Grade Bowling

8th Grade Partnerships and Fielding Votes

Raiph Dungey Memorial Trophy and Kalamunda Bus Service Consistent Performer

Season Batting and Fleiding

Season Bowling

Career Batting and Fielding

Career Bowling

Milestones

Ladders and Players of the Round

From The President

The Bentley Cricket Club was established in 1953, some 51 years later we find ourselves being the oldest surviving original club in the competition. Past players and committees should be congratulated in their efforts in ensuring the club has continued to operate. Our immediate past President who continues to serve on the current Achievement Committee Ron Fernadez was a significant contributor over the last 8 years, it gives me great pleasure in advising you all that Ron will continue to be a part of our achievement committee for next year and in doing so oversee the final stages of the installation of our a Turf wicket Project.

It is critical to our club we maintain continuity from one years committee to the next. In saying this we also need to inject new talent, in areas of Financial, Marketing, Business and Player Management to name a few. But lets not forget the "Doers" of the Club, the people both players & Non players, who sell the raffles, run

. the bar & kitchen and generally help out.

I relate the importance of the these people the "Doers" as the same as the 1%ers in a cricket game and indeed in life, without them we loose. With them, and the more we have of them like the 1%ers we win. We achieve our personal and club goals, and in doing so ensuring the Long-term survival of the Mighty Blues.

This year we will loose Derek Gascoigne & Stewart Jeffries, as Senior figures on our Achievement/Management Committee. Although disappointed to loose two significant "doers" I am pleased to advise they will both continue to play. Both Derek & Stewart should be applicated for the work they have done over the past years. They are tremendous supporters of the Club. On behalf of all members. Thankyou you both.

The Club will hold it Annual General Meeting at the end of May and I would Urge you to become part of our club's committee. I will be writing to you all over the coming weeks and requesting that you become involved

in some way no matter how small you percive it to be, it all helps, please get involved in your club.

Our Club is not yet perfect and there are many areas we can improve in, both on and off the field. The implementation of the Clubs Business plan during the year has given us direction and enabled us to actually measure whether we have been a success or not, I am pleased to say we have achieved many of our goals and objectives, but still there are some critical goals not yet achieved, we have however laid a strong foundation, that with the members & supporters continued work we will achieve our short and long term goals. This document is a living document, and will need to be continually reviewed and where necessary changed.

On the field we have improved, but just as importantly we have laid a strong foundation, to improve further. Our Club Coach Brian Hayward, with his assistants David Berry, Greg Dart, Hudson Trevenen, Keith Chapman has done a tremendous job. I look forward to working with them in 2004/2005 and beyond. To our Cricket Manager & Chairmen of Selectors Stafford Dawson & Glenn Davies respectfully, well done, as with

the coaches I look forward to working with you in the future.

To our Achievement Committee, Thankyou for your efforts in areas, you undertook. Special Projects Manager Andrew "Ace" Hayward, thankyou for your continued support, and for revisiting the start of our successes 10 years ago when we first meet at the then Boomerang Hotel in Bentley. Greg Naim has been outstanding as Treasurer and I am pleased to advise all members that the Club is in a strong financial position, but not forgetting some significant expenditure that will occur on the Turf wicket Project in the coming months. To our Bar & kitchen Mangers Geoff Dart & Jamie George respectfully thankyou, for managing your roles wonderfully without fuss. To the other "doers" in Stephen Cairns, Fab Fanayan & the Team from the Cricket Department please know with thanks that you have contributed to the current position of the club.

Our two final teams were sensational, not only did they finish minor premiers but played in the Grand Final in each grade. To Justin Warren & his team well done on winning the 5th Grade Premiership. To Greg Naim well done on your teams achievements, but commiserations for not taking that final step in winning the

Grand Final in seventh Grade.

To our "A" grade team, to win 5 games was admirable. To win seven would have seen us playing in the four to have won only 3 would have seen our top three grades being relegated. (Even though 5th Grade won a Premiership & were minor premiers, they would still have gone down to sixth Grade) With a bit of luck, but more importantly a strong work ethic to work hard next season, the final four is a realistic goal for our club.

To our Patrons & Sponsors thankyou for your generous support. I look forward to re-establishing our Clubs relationship with each other over the coming year.

But finally to our Members, Young & Old, male & female, Thankyou for your Friendship over the past season and being involved with a great club.

My Name is Steve Shearing and I am Proud to be the President of our Cricket Club. Best Regards,

C Chanda

S Shearing

Coach's Report

As we reflect in the glow of a successful season, safe in the knowledge that we achieved our two major Club aims. Firstly to remain in First grade and secondly but equally as importantly to have our other sides playing in the finals, it is important that we recognise a number of people, each of whom as contributed significantly during the season.

I would initially like to thank Steve Shearing and his hard working Committee for once again giving me the opportunity to Coach the Mighty Blues for a third straight year. Each and every request I had throughout the year was dealt with promptly and professionally and along with Cricket Manager Stafford Dawson, whose behind the scenes work and unqualified support is very much appreciated and never underestimated.

The Committee in its wisdom chose to appoint five Assistant Coaches for the season and their choice of Hudson Trevenen, Dave Berry. Steve Shearing, Greg Dart and Keith Chapman was outstanding. With the Club training over three nights and the need for more individual coaching the combined knowledge and expertise of our Assistant Coaches is immeasurable and I believe played a major part in our on-field success. Whilst Huddo, Chuck and Steve are well known and respected for the manner in which they conduct training drills, for my part, also having former Premiership team-mates and Life Members Darty and Chappy involved made the season all the more pleasurable. To all of you a very sincere thankyou.

To the Grade Captains Hudson Trevenen, Simon Magill, Justin Warren, Greg Naim and Kirk Spencer, a tremendous well done to all of you, the continued feed-back received throughout the year ensured we were able to target specific players during each and every session. First time Captains in Simon and Greg will certainly benefit greatly from the season under their belt, and the Club can certainly expect more success from them, as leaders, in the near future. To Hollywood, congratulations on captaining your first premiership team, having worked closely with you during the season and in particular the finals has been an absolute pleasure. You're planning and attention to detail is becoming legendary and I wish you on-going success.

To the player group individually and collectively, it is encouraging to see continued improvement in all areas. This has been achieved on the back of a great deal of hard work and effort, for many of you dating back to the pre-season in early August. A measure of the individual success is the fact that 8 centuries and 5 seven fors were achieved during the season, a record unsurpassed in our 51 year history. Most Clubs would be envious to know that in the lead-up to the finals we still had better than 40 Players at training, a wonderful achievement and a sure guide to our success. You're unbending support has been excellent, thankyou one and all.

Where to from here? the introduction of the Turf wicket will help but it won't quarantee us success. I would think that the work ethic applied over the last year would need to be maintained, if not increased. Finals and Premierships across all grades should be our only aim for the new season.

B Hayward

5TH GRADE GRAND FINAL

BENTLEY V APPLECROSS

PLAYED AT TOMPKINS PARK SW

22OT	WON	RY	BENTI	FY

P SMITH

27TH & 28TH MARCH 2004

BENTLEY 1ST INNINGS

2
0
35
16
4
41
17
21
3
12 N.O.
1 1
8
160
12 TH MAN

APPLECROSS 1ST INNINGS

STIRLING STAMPALIA		LEVII		b GEORGE b GEORGE	2
KAPITEYN	ct DII	ERN	A	b McLEVIE	26
CASTLEY		NAYA	/N	b GEORGE	1
PULLEY	lbw			b McLEVIE	7
HACKETT	ct DII	PERN	A.	b FLEET	0
CALDER	c & b			b McLEVIE	4
FLETCHER	ct RIC	KAR	DS	b GEORGE	2
CARR	ct RIC	KAR	DS	b GEORGE	13
MOFFITT	ct DII	PERN	A.	ь GOERGE	0
HAMILTON		NO	TUO 1		0
Sundries					9
TOTAL					64
J GEORGE	15.1	5	18	6	
D SCOTT	13	6	17	0	
B FLEET	10	6	7	1	
A McLEVIE	7	1	16	3	
			_	_	

BENTLEY WON BY 96 RUNS

0

Committee and Captains

President Steve Shearing

Vice President Derek Gascoigne

Treasurer Greg Naim

Secretary Stewart Jefferys

Committee Members Stephen Calms

Geoff Dart

Glenn Davies

Stafford Dawson

Farbod Fanayan

Ron Fernandez

Jamie George

Andrew Hayward

Not Appionted

Coach Brian Hayward

Chairman of Selectors Glenn Davies

Cricket Manager Stafford Dawson

1st Grade Captain Hudson Trevenen

Vice Captain Shaun O'Shea / Craig Mueller

3rd Grade Captain Simon Magill

Vice Captain Glenn Davies

5th Grade Captain Justin Warren
Vice Captain Not Appionted

7th Grade Captain Greg Nalm

Vice Captain

Vice Captain Not Applonted

8th Grade Captain Kirk Spencer have the return of a few familiar faces nothing is out of the question next year. Ye

1st Grade Report

After a solid pre season of training we packed our bags and travelled up to Geraldton to play Whitfords for the first game of the season. There were most of the familiar faces from last season and a few new ones. The first game was a bit of a mixed bag with everyone getting to know each other. Amongst the new guys was our new opening partnership of our Pommy Import Adam Hoult who had big wraps from the recruiting agents (we know not to listen to him anymore) and Ryan Selkirk. Craig Mueller elso made his Bentley debut and Chris Prescott and Dave Berry were making their way back in the A grade side.

It was disappointing and one of our real bad games that proved we were now playing with the big boys and if we don't lift our game we will get punished. The next game was a huge improvement we travelled to Balcatta to play last seasons premiers, what a difference a week makes. Hudson Trevenen led from the front and stamped his class on what was to be a great season for him personally. With plenty of support from Chuck and a brilliant cameo from Cat. The fielding was sensational wickets were hard to come by on a batters paradise and some direct hit run outs and superb catching swung the game in our favour. Once their captain and one of the premier batsmen in the competition was removed we were home and things were looking up.

We were sitting 1 and 1 and pretty confident of a good season to come, the next couple of games were against some pretty good teams who both made the finals and while we were competitive we were shown what it would take. All players showed they could play individually but we did not put it together as a team and this was the difference between them and us. Chris Prescott was starting to show he belonged in A Grade with the ball in his hand and took a fine 5 for against a talented Applecross the eventual premiers. A shame the same cant be said for a Pommy Import who completed the first half of the Olympic rings in this period.

We then went to South Perth at 1 and 3 and Hudson Trevenen continued his great form but fell short of the hundred mark again, he was well supported by Danny Acaro. Again in the field was where the game was to be won, some great catching and pressure caused run outs and the team looked far better then the past week. In the second week a few of the new guys had some fun with Rhino and Ferris both making some runs.

We then came to play against the cocky (and without cause) Subi Marist team and one very loud and obnoxious Pom. An outstanding performance from Chuck and Huddo to come from 5/20 to score over 250 and victory. With Hudson reaching the 100 mark in a superb captains knock.

Then the break which did us no favours at all, we came with in 2mm from beating Wembley another finalist and then had a meltdown to lose outright in a game that is best forgotten apart from promising signs from Patto who we hope to see a lot more of and the very bruised and enlarged testicles of the club president. We then travelled to High Wycombe to play the highly talented top of the table team. We were again shown the value of batting your overs with High Wycombe making 272 and batting all day white there were some great efforts in the field.

The next week again was forgettable in the first imings with nothing going our way. We showed plenty of spirit to fight back in the second innings and Steve and Ferris again showed signs of becoming a valuable opening partnership and another impressive display from Ian Pattison but we had slipped further into the dangerous relegation zone. The Tuart Hill game was just as forgettable and we were loosing our way and in danger of relegation.

We had to comeback fighting and fight we did against Doubleview bolstered by the return to Australia of Kingsley Trevenen Hudsons younger brother and also the return to A Grade of Matt Harmer the week before both had now had a game to settle into the side and play a major role for us. Thank god Matt Harmer did just that at 8/110 we were in trouble Matty and Cat batted superbly to put on nearly 100 runs in good time and then Matt continued his fine form with the support of Chris Prescott to put on a sizable total. Some good bowling by the spinners in particular Alan Tyler who picked up 5 for saw us home comfprtable but as we were in need of the points we put Doubleview in again and picked up a further 5 wickets. It is a shame we had to say goodbye to Patto and Kinga but we do hope to see them both back next year. The other exciting part of the game was the tremendous and highly underrated bowling of Paul Warren (yes that is Cat).

We were still not safe and with Ferris putting on his first 50 for the club and well supported by Huddo and Fab we were able to put on a defendable total with Teddy Thomas chipping in with some valuable tail end runs. We got a brilliant runout on the first night by Ferris and Al Tyler picked up a wicket of the last ball of the day to have them reeling at 2/5 overnight. We fought hard the next day and when Steve Shearing was thrown the ball it was all over for Basendean as Steve bowled jaffa after jaffa to have the fine figures of 3/5.

Although it was also a sad day as we did say goodbye to Rhino, actually he said goodbye to us from Adelaide an hour before the game. We did have some fun in the second innings with Fab showing he was good enough to be in the topside and Huddo having a crack at the highest season aggregate by a Bentley A Grader. It was a good season in the end we fought well to finish Mid table and if we keep the core squad together and build on it and have the return of a few familiar faces nothing is out of the question next year. Well done boys!!!!!!!!!!

A Tyler

Batting and Fielding

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
H Trevenen	11	13	1	116	561	46.75	8	0.5	1
C Mueller	11	15	0	50	283	18.87	7	1.5	0
P Warren	11	13	1	56	232	19.33	21/4	1	2
D Berry	9	9	0	73	185	20.56	2	0.5	0
l Pattison	4	6	0	54	181	30.17	4	0.5	0
A Tyler	10	13	1	37	160	13.33	10/1	2	1
R Selkirk	5	6	0	55	132	22.00	1	0.5	0
D Arcaro	8	10	0	54	111	11.10	2	0	4
M Harmer	3	4	1	64 *	107	35.67	0	0	0
S O'Shea	8	10	2	26	101	12.63	0	0	2
F Fanayan	3	4	0	49	92	23.00	2	0	1
C Prescott	11	15	11	18 *	73	18.25	1	0	0
S Shearing	3	5	0	23	54	10.80	0	0	0
A Magill	5	6	1	24 *	50	10.00	0	0	4
K Trevenen	2	2	0	28	28	14.00	0	0	0
A Thomas	5	8	1	10	23	3.29	2	0	0
D Hewitt	2	2	0	16	19	9.50	0	0	0
J George	2	3	0	7	11	3.67	0	0	0
C Pritchard	1	1	1	10 *	10	N/A	1	0	0
A Hoult	5	5	0	8	8	1.60	0	0.5	0
C Radford	2	3	0	7	7	2.33	1	0	0
R Budd	0	0	0	0	0	N/A	1	0	0

1st Grade

Bowling

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
H Trevenen	153 .4	29	464	21	22.10	4/37	3.02	43.90
A Tyler	136	29	506	21	24.10	5/23	3.72	38.86
C Prescott	144 .2	33	433	20	21.65	5/21	3.00	43.30
C Meutler	125 .2	26	405	15	27.00	3/17	3.23	50.13
S O'Shea	113 .3	20	377	14	26.93	2/25	3.32	48.64
A Magiil	53 .3	11	194	9	21.56	3/33	3.63	35.67
M Harmer	35	5	108	6	18.00	2/15	3.09	35.00
S Shearing	1 .4	1	5	3	1.67	3/5	3.00	3.33
R Selkirk	34	3	153	3	51.00	1/28	4.50	68.00
A Thomas	10	2	24	2	12.00	1/6	2.40	30.00
D Hewitt	21	0	84	2	42.00	1/23	4.00	63.00
D Berry	2	0	20	1	20.00	1/20	10.00	12.00
t Pattison	11	1	41	1	41.00	1/13	3.73	66.00
D Arcaro	14	1	91	1	91.00	1/45	6.50	84.00
J George	17	3	91	1	91.00	1/39	5.35	102.00
F Fanayan	1	0	5	0	N/A	0/5	5.00	N/A
P Warren	2	0	5	0	N/A	0/5	2.50	N/A
A Hoult	5	1	18	0	N/A	0/0	3,60	N/A

1st Grade

Parnterships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	R Selkirk / C Mueller	85	South Perth
2	R Selkirk / D Arcaro	32	Balcatta
3	R Selkirk / H Trevenen	33	Balcatta
4	H Trevenen / D Berry	144	Balcatta
5	H Trevenen / I Pattison	106	Wembley Districts
6	D Berry / H Trevenen	135	Subiaco Marist
7	H Trevenen / P Warren	86	Subiaco Marist
8	H Trevenen / D Hewitt	32	Bedford Morley
9	P Warren / M Harmer	77	Doubleview
10	M harmer / C Prescott	68 *	Doubleview

Fielding Votes

Paul Warren	100
Al Tyler	80
Hudson Trevenen	55
Craig Mueller	54
Dave Berry	45
Fab Fanayan	38
Adam Hoult	35
Ted Thomas	34
Tony Magill	22
Ian Pattison	21
Ryan Selkirk	12
Danny Arcaro	9
Shaun O'Shea	9
Steve Shearing	8
Chris Prescott	7
Craig Radford	7
Kingsley Trevenen	7
Billy	6
Bruce Bindon	6
Damien Hewitt	5
Jamie George	3
Matt Harmer	3

3rd Grade Report

The 3rd Grade season for 2003/04 resulted in 5 wins and 6 losses with a ladder position of 7th (from 12 teams). In order to reflect on the season the pre-season goals of the team need to be considered. The side expects to make the finals and then ultimately win a Premiership. In reality the team had recently been promoted from 4th to 3rd grade and the pre-season forecast was that it may be a difficult year for the side

Going into the final fixture against bottom placed Bassendean meant that an outright win would give the side a 'chance' at the finals. An outright loss in the last 10 minutes of the game summed up the character of the side. Never accepting defeat until the very end and risking ladder position for a crack at the flag.

Early narrow loses against strong clubs in Whitfords, Bedford Morley and Applecross hurt us. Our patchy form also meant that we had some big wins against Balcatta and South Perth. An awesome opening bowling performance by Matt Harmer and Tony Magill setup the win against Balcatta and Damian Rickard's aggressive batting set the scene for a big score against South Perth.

After Christmas we reversed close loses into wins. The game against Wembley (eventual premiers) was memorable for the against the odds spirit of the players. Matt Harmer after an uneventful first spell came back to restrict a runaway Wembley batting line-up. A highlight of the game was the late call up of Russell Budd who came out of a form slump to provide a solid backbone to our batting.

The Tuart Hill game was a big run chase which featured an outstanding partnership in the 90's between Damian Rickards and Russell Budd. Fab Fanayan's powerful batting display was also prominent. The match against Doubleview was dominated by Tony Magill with both bat and ball scoring 50 and taking 10 wickets for the match.

A pleasing aspect of the season was the development of several players Tim D'Souza, Sin Soueng, Brad Fleet and Omid Fanayan all proved that they had the ability to play at this level. Dean Scott was another talent that was previously untried in the seconds but proved his worth in this grade. All these players should now set their sights on cementing places in this grade or higher. The latter part of the season saw established players Shaun O'Shea and Jamie George combine to form a formidable bowling combination.

The standout players in 3rd grade would have to be Matt Harmer and Steve Shearing. Matt had a great year opening the bowling and providing reliable batting in the middle order. He was finally rewarded with an 'A grade' promotion. Steve gave our batting much needed stability and was also credited with a place in our 1st side.

There is much more to a season then batting and bowling and many thanks need to go to the senior guys who contributed to the leadership of the side. In particular Gienn Davies who was always there to turn to when I didn't have the answer. Many people contribute to the success of a side: All the guys that played in 3rd grade this season, the spectators, helpers, coaching staff, committee, selectors and the wider BCC community. Thank you all for the support.

We can now feel confident that the step up to 3rd grade is not out of our depth. With a similar level of commitment from the players and support staff they can expect to feature in finals cricket next season.

S Magill

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
M Harmer	8	11	1	57	228	22.80	1	0	0
D Rickards	7	10	ò	55	223	22.30	8	ő	ō
S Magill	11	15	2	82	200	15.38	7	0	0
S Shearing	6	7	0	65	191	27.29	2	0	0
R Budd	8	11	0	50	162		5	0	0
	-	11	Ĭ			14.73	_		_
F Fanayan	5	<u>′</u>	0	92	141	20.14	6	0	3
A Magill	4	5	1	53	137	34.25	0	0	3
G Davies	11	13	1	36	120	10.00	22/3	0	1
D Hewitt	6	8	1	26	95	13.57	2	0	1
O Fanayan	4	6	0	35	84	14.00	7	0	1
T D'Souza	11	13	7	15 *	78	13.00	2	0	0
\$ O'Shea	3	4	0	29	72	18.00	1	0	2
C Radford	4	5	0	57	71	14.20	1	0	0
C Pritchard	4	6	0	26	63	10.50	1	0	0
A Hoult	4	6	0	16	49	8.17	1	0	0
K de Jagur	4	4	Ó	19	43	10.75	3	1	0
J George	4	6	ō	16	33	5.50	1	0	Ó
S Soeung	3	3	1	15	27	13.50	2	0	0
D Scott	7	7	6	7 *	20	20.00	3	0	0
S Paice	3	4	0	15	18	4.50	0	0	0
D Barry	1	1	0	4	4	4.00	0	0	0
B Fleet	2	3	1	0 *	0	0.00	0	0	0
S Henshall	1	1	ò	Õ	0	0.00	Ō	0	0

								•	
Player	Overs	Maidens	Runs	Wickets	Average	B/Bowting	E/Rate	S/Rate	
M Harmer	145	38	358	24	14.92	5/26	2.47	36.25	
A Magill	59 .3	8	177	17	10.41	8/35	2.97	21.00	
S O'Shea	71	23	181	17	10.65	6/50	2.55	25.06	
J George	65 .3	15	197	13	15.15	5/34	3.01	30.23	
D Scott	88 .2	25	200	13	15.38	3/14	2.26	40.77	
T D'Souza	101 .1	20	352	12	29.33	4/13	3.48	50.58	
D Hewitt	50 .2	15	102	7	14.57	3/23	2.03	43.14	
J de Jagur	23	6	87	6	14.50	2/19	3.78	23.00	
B Fleet	19 .2	2	68	3	22.67	2/39	3.52	38.67	
S Soeung	40	7	117	3	39.00	1/29	2.93	80.00	
D Barry	7	2	9	2	4.50	2/9	1.29	21.00	
F Fanayan	3	1	16	2	8.00	2/16	5.33	9.00	
G Davies	3	0	13	1	13.00	1/13	4.33	18.00	
S Magill	5	0	15	1	15.00	1/5	3.00	30.00	
S Henshall	11	0	58	1	58.00	1/58	5.27	66.00	
O Fanayan	3	2	2	0	N/A	0/2	0.67	N/A	
S Shearing	3	1	4	0	N/A	0/0	1.33	N/A	
A Hoult	2	0	13	0	N/A	0/13	6.50	N/A	
R Budd	20	2	57	0	N/A	0/10	2.85	N/A	

3rd Grade

Parnterships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	C Pritchard / A McLevie	26	Bassendean
2	A Hoult / D Rickards	34	South Perth
3	C Radford / S Shearing	65	Applecross
4	D Rickards / R Budd	94	Tuart Hill
5	S Shearing / M Harmer	83	Applecross
6	O Fanayan / S O'Shea	52	Bassendean
7	S Shearing / K De Jagur	58	Balcatta
8	A Magill / G Davies	49	Doubleview
9	F Fanayan / T D'Souza	65	Tuart Hill
10	S Soeung / T D'Souza	26	Bedford Morley

Fielding Votes

Glenn Davies	115
Damian Rickards	78
Russell Budd	77
Fab Fanayan	63
Adam Hoult	53
Simon Magill	51
Tim D'Souza	49
Ken de Jagur	41
Sin Soeung	41
Omo Fanayan	40
Damien Hewitt	31
Dean Scott	24
Chris Pritchard	12
Steve Shearing	12
Matt Harmer	9
Steve Paice	8
Craig Radford	4
Tony Magill	3
Jamie George	1
Shaun O'Shea	1

5th Grade Report

At the end of last season, I said that in 2003/04 there would be no excuses. I am proud to say, that after 13 games and a lot of hard work, we don't need any! 2003/04 will be remembered as a successful year for 5th Grade and success that was well deserved.

It will be remembered for some brilliant individual achievements and some hard fought wins, but for myself, it will be most remembered for the way the team worked together and stayed focused on the season goals. In a season that saw 30 players and 4 Captains we had to adjust to a lot of changes, but with every change we had someone ready to put their hand up to do that bit more.

Our batting was highlighted by 5 hundred's and 8 fifties. Stew Jeffreys 120, Ted Thomas 117, Omo Fanayan 109 and PC Smith 101no all made their first 100 for Bentley and Fab Fanayan's 117no was his second (Steve Paice was unlucky not to make his first with 98). We had 7 batsmen make over 200 runs for the season with Omo (339 @ 33.9) and Stew (318 @ 24.4) topping the runscorers. There were 3 hundred and 16 fifty run partnerships, with Omo and Stew's 168 run 3rd wicket stand against Applecross being the biggest and also levelling the association record. Stew and PC's 157 run 5th wicket stand against South Perth and Dez Gascoigne and Brad Fleets 75 run 9th wicket stand against Subi Marist both set new records for 5th Grade.

Our bowlers changed quite regularly this season, with 22 of the 30 players being required to bowl at some stage. Jamie George (29 @ 6.1) played only 6 games for the year and is an outstanding asset in 5th Grade. Jamie took 10 wickets against South Perth, including his first 7 wicket innings for the club and his 6/18 in the grand final was the best performance in the clubs history. Brad Fleet (21 @ 13.0) and Dez Gascoigne (18 @ 12.7) were the backbone of our attack and both did great jobs throughout the season. Beags McLevie (13 @ 12.1), Sin Seoung (11 @ 11.7) and Dean Scott (10 @ 13.1) were the other bowlers to take over 10 wickets for the year.

5th Grade fielding was of a high standard all season. Behind the stumps John DiPerna got back to his best by the New Year break and the team seemed to lift with him every game after that. John gloved a number of quality catches over the season, but in my opinion his stumping for our first wicket in the semi final was his best dismissal. Our three "classic" catches during the finals, Chris Pritchard in the semi and Beags and Omo's in the grand, will surely be remembered, but the most pleasing thing for myself was that both sets of umpires for the finals commented on how good our fielding was. To hear this from umpires who had spent the year in 1st and 2nd Grade was a credit to the team.

The finals campaign was very special and something I will never forget. Our come from behind semi final victory against High Wycombe showed our character and to destroy a quality side like Applecross in the grand final, well I put that down to our commitment and focus and when push came to shove, Applecross just weren't up to it. If we had a player of the finals, it was our keeper-batsman John DiPerna. John played a part in 9 of the 20 dismissals (7 catches, 1 stumping and 1 run out) and made 47 off 39 balls being dismissed only once.

Thank you to everyone who made this year possible. We put a lot of hard work in and we deserved everything we got out of it. Congratulations to Greg and 7th Grade for a good season, lets make sure we continue to build on our depth and we'll make it two next year. Thanks to Jamie, Dez and especially PC for the job you did when sharing the captaincy with me and to the committee, coaches and Glenn Davies for your help and support. To Brian, you've been there every step of the way and I can't thank you enough for everything you've done.

Let the next challenge begin!

J Warren

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
O Fanayan	8	10	0	109	338	33.80	2/1	0	3
S Jefferys	11	13	0	120	318	24.46	8	0	4
P Smith	12	15	1	101 *	297	21.21	7	0	6
S Paice	10	12	1	98	294	26.73	5	1	1
M O'Leary	9	12	0	48	217	18.08	2	0	1
J Dipema	12	14	3	54 *	209	19.00	25/1	1.5	1
J Warren	8	9	1	41	207	25.88	3	0	1
C Pritchard	7	8	1	61 *	180	25.71	2	0	0
F Fanayan	1	1	1	117 *	117	N/A	0	0.5	3
A Thomas	1	1	0	117	117	117.00	1	0	4
D Gascoigne	8	8	4	74	109	27.25	1	0	1
J George	6	5	0	32	76	15.20	0	0	2
D Scott	6	5	3	22	52	26.00	2	0.5	0
A McLevie	- 5	5	0	23	47	9.40	4	0	0
D Rickards	2	2	0	35	42	21.00	2	0	0
K de Jagur	5	6	1	18 *	35	7.00	1	0	0
L Finch	4	6	0	12	28	4.67	O,	0	0
J Hendry	1	1	0	24	24	24.00	0	0	1
B Fleet	10	7	1	18	23	3.83	3	0.5	0
K Dawson	2	3	1	9	22	11.00	1	0	0
G Hewitt	4	3	0	10	20	6.67	0	0	0
R Budd	1	2	0	16	17	8.50	0	0	0
G Телтіаса	2	2	1	11 *	12	12.00	2	0	0
J Naim	1	1	1	10 *	10	N/A	0	0	0
K Spencer	1	1	0	6	6	6.00	0	0	0
S Soeung	4	4	3	4 *	6	6.00	0	0	0
M Kinch	1	1	0	2	2	2.00	1	0	0
D Валту	1	0	0	0	0	N/A	1	0	Q
S Henshail	2	2	1	0.	0	0.00	3	1	0
S Vickery	0	0	0	0	0	N/A	1	0	0

Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate	
84 .2	24	179	29	6.17	7/18	2.12	17.45	
114 .3	34	283	21	13.48	5/47	2.47	32.71	
106 .3	36	230	18	12.78	6/50	2.16	35.50	
66 .5	9	158	13	12.15	4/43	2.36	30.85	
47	13	129	11	11.73	4/25	2.74	25.64	
91 .4	45	131	10	13.10	4/27	1.43	55.00	
23	6	44	5	8.80	4/36	1.91	27.60	
22 .5	9	55	5	11.00	3/14	2.41	27.40	
14	3	28	4	7.00	2/3	2.00	21.00	
45	16	91	4	22.75	1/9	2.02	67.50	
7	0	16	3	5.33	3/9	2.29	14.00	
21	9	37	3	12.33	3/37	1.76	42.00	
11	2	44	2	22.00	2/44	4.00	33.00	
15	2	83	2	41.50	2/24	5.53	45.00	
6	4	6	1	6.00	1/6	1.00	36.00	
3	0	18	1	18.00	1/11	6.00	18.00	
5	1	19	1	19.00	1/12	3.80	30.00	
9	1	22	1	22.00	1/5	2.44	54.00	
12	2	24	1	24.00	1/24	2.00	72.00	
10	3	25	1	25.00	1/25	2.50	60.00	
5	2	6	0	N/A	0/2	1.20	N/A	
1	0	9	0	N/A	0/9	9.00	N/A	
6	2	13	0	N/A	0/5	2.17	N/A	
4	0	23	0	N/A	0/8	5.75	N/A	
	84 .2 114 .3 106 .3 66 .5 47 91 .4 23 22 .5 14 45 7 21 11 15 6 3 5 9 12 10 5 1 1 6	84 .2 24 114 .3 34 106 .3 36 66 .5 9 47 13 91 .4 45 23 6 22 .5 9 14 3 45 16 7 0 21 9 11 2 15 2 6 4 3 0 5 1 9 1 12 2 10 3 5 2 1 0 6 2	84 .2 24 179 114 .3 34 283 106 .3 36 230 66 .5 9 158 47 13 129 91 .4 45 131 23 6 44 22 .5 9 55 14 3 28 45 16 91 7 0 16 21 9 37 11 2 44 15 2 83 6 4 6 3 0 18 5 1 19 9 1 22 12 2 24 10 3 25 5 2 6 1 0 9 6 2 13	84 .2	84 .2 24 179 29 6.17 114 .3 34 283 21 13.48 106 .3 36 230 18 12.78 66 .5 9 158 13 12.15 47 13 129 11 11.73 91 .4 45 131 10 13.10 23 6 44 5 8.80 22 .5 9 55 5 11.00 14 3 28 4 7.00 45 16 91 4 22.75 7 0 16 3 5.33 21 9 37 3 12.33 11 2 44 2 22.00 15 2 83 2 41.50 6 4 6 1 6.00 3 0 18 1 18.00 9 1 22 1 22.00 12 2 24 1 24.00 10	84 .2 24 179 29 6.17 7/18 114 .3 34 283 21 13.48 5/47 106 .3 36 230 18 12.78 6/50 66 .5 9 158 13 12.15 4/43 47 13 129 11 11.73 4/25 91 .4 45 131 10 13.10 4/27 23 6 44 5 8.80 4/36 22 .5 9 55 5 11.00 3/14 14 3 28 4 7.00 2/3 45 16 91 4 22.75 1/9 7 0 16 3 5.33 3/9 21 9 37 3 12.33 3/37 11 2 44 2 22.00 2/24 6 4 6 1 6.00 1/6 3	84 .2 24 179 29 6.17 7/18 2.12 114 .3 34 283 21 13.48 5/47 2.47 106 .3 36 230 18 12.78 6/50 2.16 66 .5 9 158 13 12.15 4/43 2.36 47 13 129 11 11.73 4/25 2.74 91 .4 45 131 10 13.10 4/27 1.43 23 6 44 5 8.80 4/36 1.91 22 .5 9 55 5 11.00 3/14 2.41 14 3 28 4 7.00 2/3 2.00 45 16 91 4 22.75 1/9 2.02 7 0 16 3 5.33 3/9 2.29 21 9 37 3 12.33 3/37 1.76 11 2 <td>84 .2 24 179 29 6.17 7/18 2.12 17.45 114 .3 34 283 21 13.48 5/47 2.47 32.71 106 .3 36 230 18 12.78 6/50 2.16 35.50 66 .5 9 158 13 12.15 4/43 2.36 30.85 47 13 129 11 11.73 4/25 2.74 25.64 91 .4 45 131 10 13.10 4/27 1.43 55.00 23 6 44 5 8.80 4/36 1.91 27.60 22 .5 9 55 5 11.00 3/14 2.41 27.40 14 3 28 4 7.00 2/3 2.00 21.00 45 16 91 4 22.75 1/9 2.02 67.50 7 0 16 3 5.33 3/9</td>	84 .2 24 179 29 6.17 7/18 2.12 17.45 114 .3 34 283 21 13.48 5/47 2.47 32.71 106 .3 36 230 18 12.78 6/50 2.16 35.50 66 .5 9 158 13 12.15 4/43 2.36 30.85 47 13 129 11 11.73 4/25 2.74 25.64 91 .4 45 131 10 13.10 4/27 1.43 55.00 23 6 44 5 8.80 4/36 1.91 27.60 22 .5 9 55 5 11.00 3/14 2.41 27.40 14 3 28 4 7.00 2/3 2.00 21.00 45 16 91 4 22.75 1/9 2.02 67.50 7 0 16 3 5.33 3/9

7

5th Grade

Parnterships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	S Paice / M O;Leary	130	Balcatta
2	S Paice / S Jefferys	79	Balcatta
3	O Fanayan / S Jefferys	168	Applecross *
4	O Fanayan / S Paice	57	Tuart Hill
5	S Jefferys / P Smith	157	South Perth *
6	S Paice / J Warren	51	Doubleview
7	S Paice / J Diperna	87 *	Doubleview
8	O Fanayan / D Gascoigne	31	Sublaço Marist
9	D Gascoigne / B Fleet	75	Sublaco Marist *
10	D Scott / S Soeung	22	Whitfords

^{*} Denotes record this team

Fielding Votes

John Dipema	132
Stewart Jeffreys	113
Steve Paice	57
Brad Fleet	56
Steve Henshall	39
Chris Pritchard	36
Pete Smith	29
Liam Finch	27
Dean Scott	26
Omo Fanayan	26
Matt O'Leary	24
Steve Vickery	19
Mark Kinch	16
Sin Soeung	16
Joshua Naim	13
Dave Barry	12
Dez Gascolgne	12
Glen Hewitt	10
Ken de Jagur	10
Ted Thomas	7
Fab Fanayan	6
Ken Dawson	6
Gino Terriaca	4
Jamie George	4
Andrew McLevie	3
Jamie Hendry	3
Russell Budd	3
Kirk Spencer	2
Justin Warren	2

7th Grade Report

A season that built in momentum and finished in despair but one that all players can be proud of and use for motivation going forward.

This team won 10 of 12 games throughout the season, finished deserved minor premiers and sat atop the ladder for all but the first game of the season. We were not inundated with stars, but comprised of blokes who all contributed to the teams success at varying stages of the season. We did not rely on the performances of a handful of players which, to me, is the sign of a good team. Although we came up short in the final, this was not from a lack of self belief or lack of desperation — this was the anomaly that can occur in a format that pits two teams against one another in a winner take all result. On the day, we weren't quite good enough but we will use this heartbreak to fire us to better things in the season to come.

On reflection, we were not a high scoring team (only passing 200 once when we made 341 against Subiaco Marist) but that is more a reflection of our ability to dismiss teams cheaply rather than our inability to make runs. In this regard, two games stand out – the first against Applecross when we chased 167 and the second against Doubleview when we chased 132. These were not big scores but after being in trouble on both occasions, we were good enough to get across the line in both matches. This reflected well on the depth of our side rather than the performances of a couple of Individuals. However, it would be remiss of me not to mention some brilliant individual performances during the season that included Jamie Hendry's malden century for the Club (140 vs Subiaco Marist), Chris Scott's coming of age as an opening batsman (307 runs for the season including scores of 63no, 62no and his memorable 48 in the final), Gino Terriaca's 70no against Doubleview, Darren Third's 280 runs for the season, Ted Thomas's 84 that propelled him into higher grade cricket and Greg Sheppard's contribution throughout the majority of the season.

There is no doubt that our bowling and fielding skills were the main reason for our success this season. Opposition teams only passed 150 on 3 occasions and we dismissed opposition sides for less than 100 on no fewer than 6 occasions. To me, this was a fantastic effort that set us up for the season we had. There were some outstanding Individual performances during the season which included Darren Third taking 34 wickets (best of 6/39), Jamie Hendry taking 23 wickets (best of 4/20) and Greg Naim taking 40 wickets (best of 7/14 and 7/24, including two 10 wicket matches). Other meritorious performances were also achieved by Gino Terriaca and Marc Kinch. From a fielding perspective, the outstanding performers were Geoff Dart, Gino Terriaca and Chris Scott.

All in all, a successful season that left us all with a bad taste in our mouths after losing the grand final. My special thanks to all of the 30 players who played in my team this year – your contributions were important and valuable and appreciated by everyone else. Thanks also to Greg Dart for his support, Mrs Sheppard for her assistance with scoring duties and to the many wives and girlfriends who assisted by preparing afternoon teas during the season.

I look forward to seeing all of you back next season when we will go that one step further.

G Naim

Player	Matches	Innina	Not Outs	H/Score	Runs	Avorage	Cat/St.	B/O	Sixes
Player	Macches	innings	Not Outs	UPOCOIA	Kulis	Average	Caust	ЮО	SIX42
J Hendry	10	11	1	140	317	31.70	7	0.5	. 9
C Scott	11	12	3	63 *	307	34.11	25	2	3
D Third	12	12	3	62	278	30.89	3	- 1	2
G Sheppard	8	8	0	59	176	22.00	1	0	1
G Terriaca	9	8	2	70 *	170	28.33	8	0	0
A Thomas	2	3	0	84	127	42.33	0	0	1
G Hewitt	5	5	1	44	126	31.50	4	0	0
M Kinch	7	6	2	33	96	24.00	1	0	0
G Dart	12	11	3	38 *	90	11.25	10/1	3	0
R Budd	1	1	0	66	66	66.00	2	0	0
K Dawson	5	5	2	23 *	61	20.33	4	0	0
D Rickards	2	4	0	31	60	15.00	3	0	1
R Femandez	5	4	0	30	53	13.25	3	0	1
G Naim	12	7	2	20	52	10.40	2	0.5	0
K Spencer	3	3	0	24	48	16.00	1	0	0
L Finch	4	4	1	22	45	15.00	2	0	0
D Barry	2	2	1	36 *	43	43.00	3 0	0	1
B Fleet	1	1	0	31	31	31.00	2	0	0
S Jefferys	2	2	0	21	28	14.00	1	0	1
D Gascoigne	3	3	1	18	27	13.50	0	0.5	0
M O'Leary	3	3	0	9	13	4.33	1	0	0
K de Jagur	1	1	0	8	8	8.00	0	0	0
L Dungey	4	3	0	4	8	2.67	1	0	0
J Porter	2	1	0	7	7	7.00	0	0	0
G Partridge	2	2	0	7	7	3.50	1	0	0
J Naim	3	1	1	3 *	3	N/A	0	0.5	0
G Edmonds	1	1	1	0 *	0	N/A	0	1	0
S Henshall	1	0	0	0	0	N/A	0	0	0
T Chapman	1	1	0	0	0	0.00	1	0	0

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
G Naim	191 .1	67	398	43	9.26	7/14	2.08	26.67
D Third	168 .1	36	505	34	14.85	6/39	3.00	29.68
J Hendry	157 .2	50	346	29	11.93	4/20	2.20	32.55
G Terriaca	47 .1	.8	151	10	15.10	4/40	3.20	28.30
K Spencer	26	5	49	5	9.80	2/3	1.88	31.20
J Naim	6	2	17	4	4.25	4/7	2.83	9.00
M Kinch	34	4	85	4	21.25	4/30	2.50	51.00
S Henshall	17	8	14	3	4.67	2/6	0.82	34.00
D Gascoigne	24	7	60	3	20.00	2/17	2.50	48.00
D Barry	22	10	20	2	10.00	1/2	0.91	66.00
G Sheppard	18	3	36	2	18.00	1/2	2.00	54.00
G Hewitt	1	0	1	1	1.00	1/1	1.00	6.00
K de Jagur	6	1	22	1	22.00	1/22	3.67	36.00
M O'Leary	1	0	5	0	N/A	0/5	5.00	N/A
L Finch	1	0	7	0	N/A	0/7	7.00	N/A
B Fleet	1	0	7	0	N/A	0/7	7.00	N/A
R Fernandez	5	0	20	0	N/A	0/4	4.00	N/A
A Thomas	7	0	20	0	N/A	0/20	2.86	N/A
G Edmonds	6	0	26	0	N/A	0/26	4.33	N/A
G Dart	5	0	· 27	0	N/A	0/4	5.40	N/A
D Rickards	4	1	28	0	N/A	0/28	7.00	N/A

7th Grade

Parnterships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	G Dart / C Scott	115 *	Curtin Uni / Vic Park *
2	A Thomas / G Sheppard	80	Bedford Morley
3	A Thomas / M Kinch	79	Bedford Morley
4	G Hewitt / J Hendry	58	Melville
5	R Budd / G Sheppard	48	Sublaco Marist
6	R Budd / J Hendry	138	Sublaco Marist *
7	J Hendry / D Barry	94	Subiaco Marist
8	L Finch / M Kinch	38	Curtin Uni / Vic Park
9	G Terriaca / K Spencer	38	Doubleview
10	G Terriaca / G Naim	43	Doubleview

Denotes record this team

Flelding Votes

Geoff Dart	152
Chris Scott	119
Jamie Hendry	57
Gino Terriaca	56
Liam Finch	33
Greg Naim	30
Glen Hewitt	25
Brad Fleet	22
Chris Wilde	21
Ted Thomas	21
Mark Kinch	19
Russell Budd	14
Damien Rickards	12
Darren Third	12
Lloyd Dungey	12
Ken de Jagur	10
Trent Chapman	8
Ron Fernandez	6
Joshua Nairn	4
Greg Sheppard	3
Jason Porter	3
Des Gascoigne	2
Gus Edmonds	2
Matt O'Leary	2
Ken Dawson	1
Steve Henshall	1

8th Grade Report

After finishing off the pervious season with three good wins we had high hopes that the 8th grade 2003/04 season would bring success and possible finals appearances. Regrettably this was not the case.

In the first half of the season luck was not on our side. We narrowly lost a number of games by a couple of wickets or a few runs, although luck was not to blame for all our misfortune. As captain Kirk Spencer often said 'we found new ways to snatch defeat from the jaws of victory'. We struggled to put a complete game of cricket together. When we bowled well we let ourselves down with the bat and when a decent score was made our bowling and fielding was poor (the less said about our catching the better).

After Christmas we managed to win three games and the spirit of the team lifted. One of the highlights of the season came from our third win in a one day game against Subiaco/Marist. After a close game for most of the day we started to slip behind the run rate until Craig Rickards (Whipper) came out to bat and smashed the ball to all parts of the ground. Still requiring eight runs from the last eight balls, Whipper swung hard and deposited the ball over the mid-wicket boundary to ensure a memorable win.

There were some individual performances of note during the season with Whipper continuing Subiaco/Marists' pain by taking seven wickets in an innings in the earlier game of the season and Damien Rickards scoring a centenary against Bassendean.

There were five different captains used throughout the season with Damien Rickards, Steve Henshall, Trent Chapman and myself filling in for Kirk in his absence - albeit with limited success. Kirk should be congratulated for his efforts as eighth grade captain, in one of the toughest jobs at the club. His superb bowling efforts meant he was taken away from us to play higher grades towards the end of the season.

A special thankyou goes to Peter Forrester who was our manager/12th man/water boy/kitchen lady. His valuable contribution to the team was appreciated by all the players (except when he was collecting match fees). I am sure the other grades in the club would love to have a guy like Forro supporting their side. It was only chronic injuries, and not complete lack of talent and co-ordination, that stopped Forro from playing more games with the side.

Terrific contributions throughout the season were made by many players. Alan Flynn and Geoff Partridge improved vastly with the bat and Josh Naim has become a bowler to trouble even the best of batters. Abhi Manjeri impressed with his leg spinners, Trent always did a professional job behind the stumps and Sheehan Dungey for his... um... youthful enthusiasm. To all the guys who played eighth grade this season your efforts were appreciated.

So again the cricket year finished with us down the lower end of the ladder. We had a few obstacles throughout season; rotational captain policy, women umpires, maniana locals, but we overcame them the best we could. So even though it was not the most successful season on the field it was still thoroughly enjoyed by all the players and I hope to see everyone back next season.

B Chapman

Player	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O 5	Sixes
K Spencer	10	11	1	55	220	22.00	4	1	7
D Rickards	3	3	0	117	210	70.00	3	0	3
S Cairns	12	15	1	39 *	195	13.93	1	0	0
T Chapman	11	11	1	49	184	18.40	17/1	1.5	0
L Dungey	6	6	0	86	152	25.33	1	0.5	1
A Flynn	11	15	1	31	150	10.71	3	0	1
B Chapman	13	14	5	45	141	15.87	3	0.5	0
G Partridge	11	12	3	28	133	14.78	7	1.5	0
A Manjire	9	12	1	38 *	86	7.82	1	0	0
A McLevie	1	1	0	76	76	76.00	0	0	1
J Naim	11	12	6	41 *	73	12.17	2	1	0
C Rickards	4	5	2	40 *	50	16.67	0	0	2
J Harmer	4	6	2	24 *	39	9.75	1	0	0
R Fernandez	2	2	0	33	34	17.00	0	0	0
P Forrester	5	5	2	14	32	10.67	6	0.5	0
K Dawson	1	1	0		31	31.00	0	0	0
J Hendry	1	2	0	25	28	14.00	, 0	0	1
J Welsh	1	2	0	15	23	11.50	0	0	0
J Warren	1	1	0	18	18	18.00	0	0	1
D Barry	1	1	0	12	12	12.00	0	0	0
G Edmonds	2	2	1	12 *	12	12.00	0	0	0
G Hewitt	1	1	0	12	12	12.00	2	0	0
S Henshall	3	2	0	10	12	6.00	0	0	0
L Finch	1	2	0	7	11	5.50	1	0	0
T Reid	4	4	1	8	11	3.67	0	0	0
S Amott-Dungey	6	5	1	7 *	11	2.75	1	0	0
G Dart	1	1	0	10	10	10.00	0	0	0
B Bindon	1	1	0	9	9	9,00	1	0	0
S Dawson	4	3	0	6	6	2.00	0	0	0
\$ Vickery	1	1	0	5	5	5.00	0	0	0
J Porter	1	2	0	5	5	2.50	1	0	0
R Mark	6	5	1	4	5	1.25	2	0	0
S Soeung	1	1	0	4	4	4.00	0	1	0
A Pickup	1	1	0	1	1	1,00	0	0.5	0
J McCall	1	0	0	0	0	N/A	1	0	0
G Naim	1	1	0	0	0	0.00	0	0	0
G Sheppard	1	1	0	0	0	0.00	0	0	0

Player	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
K Spencer	141 .4	42	356	33	10.79	6/19	2.51	25.76
C Rickards	71 .1	28	102	20	5.10	7/40	1.43	21.35
B Chapman	166	32	523	14	37.36	2/33	3.15	71.14
J Naim	106 .2	21	294	13	22.62	3/16	2.76	49.08
A Manjire	48	2	208	12	17.33	3/45	4.33	24.00
A Flynn	15 .3	2	74	4	18.50	2/1	4.77	23.25
D Barry	10	2	14	3	4.67	3/14	1.40	20.00
G Naim	26	7	70	3	23.33	3/60	2.69	52.00
S Henshall	23	4	74	3	24.67	2/15	3.22	46.00
G Partridge	38	7	166	3	55.33	1/19	4.37	76.00
J Hendry	9 .1	2	21	2	10.50	2/21	2.29	27.50
S Soeung	10	1	33	2	16.50	2/33	3.30	30.00
G Edmonds	24	4	66	2	33.00	2/21	2.75	72.00
R Mark	2	Ð	4	1	4.00	1/4	2.00	12.00
A McLevie	7	2	23	1	23.00	1/23	3.29	42.00
G Sheppard	7	1	30	1	30.00	1/30	4.29	42.00
J McCall	10	0	44	1	44.00	1/44	4.40	60.00
J Harmer	21	3	70	1	70.00	1/38	3.33	126.00
R Fernandez	2	1	4	0	N/A	0/4	2.00	N/A
A Pickup	2	0	16	0	N/A	0/16	8.00	N/A
P Forrester	3	0	22	0	N/A	0/22	7.33	N/A
D Rickards	4	0	24	0	N/A	0/24	6.00	N/A
K Dawson	4	0	30	0	N/A	0/30	7.50	N/A
T Reid	7	0	39	0	N/A	0/39	5.57	N/A

8th Grade

Parnterships and Fielding Votes

Wicket	Batsmen	Runs	Opponent
1	J harmer / A Flynn	44 *	Wembley Districts
2	S Cairns / D Rickards	46	Bassendean
3	R Fernandez / T Chapman	59	Wembley Districts
4	L Dungey / K Dawson	115	Balcatta *
5	A McLevie / L Dungey	88	Ocean Ridge *
6	G Partridge / C Rickards	46 *	Subiaco Marist
7	G Partridge / K Spencer	33	Whitfords
8	K Spencer / A Manjire	68	Balcatta *
9	S Caims / G Edmonds	28	Whitfords
10	A Maniire / P Forrester	20 *	Balcatta

^{*} Denotes record this team

Fielding Votes

Geoff Partridge	132
Trent Chapman	120
Al Flynn	84
Joshua Naim	71
Kirk Spencer	71
Peter Forrester	50
Blair Chapman	42
Craig Rickards	29
Sheahan Dungey	29
Abhijit Manjire	22
Sin Soeung	21
Geoff Dart	18
Glen Hewitt	17
Russell Mark	15
Liam Finch	10
Steve Henshall	9
Damien Rickards	8
Steve Calms	8
Jamie Hendry	7
Jos Welsh	6
Jos Welsh	6
Bruce Bindon	5
Joshua Harmer	5
Joshua Harmer	5
Stafford Dawson	5
John McColl	4
Steve Vickery	4
Troy Reid	4
Greg Naim	3
Damon	3
Gus Edmonds	3
Lloyd Dungey	2
	10

Ralph Dungey Memorial Trophy and Kalamunda Bus Service Consistent Performer

Player	Total	Player	Totai
H Trevenen *	826	T D'Souza	247
K Spencer *	723	G Davies *	245
J Hendry	700	M O'Leary	243
M Harmer *	647	D Berry	240
D Third	629	D Hewitt	240
D Rickards	591	A Manjire	228
G Naim *	506	G Hewitt	220
S O'Shea	493	l Pattison	212
O Fanayan *	492	A McLevie	210
C Mueller	487	G Sheppard	209
F Fanayan	477	S Cairns	203
J George	475	M Kinch	183
A Magili	472	S Henshali	181
A Tyler *	450	L Dungey *	174
S Jefferys	441	R Selkirk	174
C Scott	376	L Finch	164
S Paice	365	J Warren	157
B Fleet	351	D Barry	151
A Thomas	349	A Hoult	145
R Budd	349	K Dawson	138
G Terriaca *	345	D Arcaro	130
J Naim	344	R Fernandez	93
P Smith	339	C Radford	89
P Warren *	332	P Forrester	82
B Chapman	323	J Harmer	59
D Gascoigne	321	S Amott-Dungey	40
T Chapman	312	G Edmonds	37
G Partridge *	302	J Welsh	35
D Scott	298	K Trevenen	35
S Shearing *	295	R Mark	30
J Diperna *	294	S Vickery	28
C Pritchard	290	C Wilde	21
C Prescott *	280	B Bindon	20
C Rickards	279	J porter	15
S Soeunbg	275	T Reid	15
A Flynn	274	J McCall	14
G Dart *	263	S Dawson	11
S Magili	261	D Sheppard	3
K De Jagur	257	A Pickup	1

^{*} Denotes trophy winner so ineligible for Ralph Dungey Memorial Trophy

Surname	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
H Trevenen	11	13	1	116	561	46.75	8	0.5	1
D Rickards	14	19	0	117	535	28.16	16	0	4
O Fanavan	12	16	0	109	422	26.38	9/1	0	4
J Hendry	12	14	1	140	369	28.38	7	0.5	11
F Fanayan	9	12	1	117 *	350	31.82	8	0.5	7
S Jefferys	13	15	0	120	346	23.07	9	0	5
M Harmer	11	15	2	64 *	335	25.77	1	Ö	Ō
S Paice	13	16	1	98	312	20.80	5	1	1
C Scott	11	12	3	63 *	307	34.11	25	2	3
P Smith	12	15	ĭ	101 *	297	21,21	7	0	6
C Mueller	11	15	ò	50	283	18.87	7	1.5	ō
D Third	12	12	3	62	278	30.89	3	1	2
K Spencer	14	15	1	55	274	19.57	5	1	7
A Thomas	8	12	i	117	267	24.27	3	Ö	5
C Pritchard	12	15	2	61 *	253	19.46	4	ŏ	ŏ
S Shearing	9	12	õ	65	245	20.42	2	ő	Ö
R Budd	10	14	Ö	66	245	17.50	8	0	0
P Warren	11	13	1	56	232	19.33	21/4	1	2
M O'Leary	12	15	Ö	48	230	15.33	3	Ó	1
J Warren	9	10	1	41	225	25.00	3	Ö	2
	12	14	3	54 *	209	19.00	25/1	1.5	1
J Diperna	11	15	2	82	209	15.38	23/1 7	0.0	Ö
S Magill			1	39 *			1	0	0
S Caims	12 9	15 11	2	53	195 187	13.93 20.78	0	0	7
A Magill	9	9	0	73	185		2	0.5	ó
D Велу	-	_	-			20.58	_	1.5	0
T Chapman	12	12	1	49	184	16.73	18/1		
G Terriaca	11	10	3	70 *	182	26.00	10	0	0
l Pattison	4	6	0	54	181	30.17	4	0.5	0
G Sheppard	9	9	0	59	176	19.56	1	0	1
S O'Shea	11	14	2	29	173	14.42	1	0	4
L Dungey	10	9	0	86	160	17.78	2	0.5	1
A Tyler	10	13	1	37	160	13.33	10/1	2	1
G Hewitt	10	9	1	44	158	19.75	6	0	0
A Flynn	11	15	1	31	150	10.71	3	0	1
B Chapman	13	14	5	45	141	15.67	3	0.5	0
G Partridge	13	14	3	28	140	12.73	8	1.5	0
D Gascoigne	11	11	5	74	136	22.67	1	0.5	1
R Selkirk	5	6	0	55	132	22.00	1	0.5	0
A McLevie	6	6	0	76	123	20.50	4	0	1
G Davies	11	13	1	36	120	10.00	22/3	0	1
J George	12	14	0	32	120	8.57	1	0	2
K Dawson	8	9	3	31	114	19.00	5	0	0
D Hewitt	8	10	1	26	114	12.67	2	0	1
D Arcaro	8	10	0	54	111	11.10	2	0	4
G Dart	13	12	3	38 *	100	11.11	10/1	3	0
M Kinch	8	7	2	33	98	19.60	2	0	0
R Fernandez	7	6	0	33	87	14.50	3	0	1
J Naim	15	14	8	41 *	86	14.33	2	1.5	0
K de Jagur	10	11	1	19	86	8.60	4	1	0
A Manjire	9	12	1	38 *	86	7.82	1	0	0

Surname	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
L Finch	9	12	1	22	84	7.64	3	0	0
T D'Souza	11	13	7	15 *	78	13.00	2	0	0
C Radford	6	8	0	57	78	9.75	2	0	0
C Prescott	11	15	11	18 *	73	18.25	1	0	0
D Scott	13	12	9	22	72	24.00	5	0.5	0
D Вапу	5	4	1	36 *	59	19.67	1	0	1
A Hoult	9	11	0	16	57	5.18	1	0.5	0
B Fleet	13	11	2	31	54	6.00	5	0.5	0
G Naim	13	8	2	20	52	8.67	2	0.5	0
C Rickards	4	5	2	40 *	50	16.67	0	0	2
J Harmer	4	6	2	24 *	39	9.75	1	0	0
S Seeung	8	8	4	15	37	9.25	2	1	0
P Forrester	5	5	2	14	32	10.67	6	0.5	0
K Trevenen	2	2	0	28	28	14.00	0	0	0
J Welsh	1	2	0	15	23	11.50	0	0	0
G Edmonds	3	3	2	12 *	12	12.00	0	1	0
J Porter	3	3	0	7	12	4.00	1	0	0
S Henshall	7	5	1	10	12	3.00	3	1	0
T Reid	4	4	1	8	11	3.67	0	0	0
S Amott-Dungey	6	5	1	7 *	11	2.75	1	0	0
B Bindon	1	1	0	9	9	9.00	1	0	0
S Dawson	4	3	0	6	6	2.00	0	0	0
S Vickery	1	1	0	5	5	5.00	1	0	0
R Mark	6	5	1	4	5	1.25	2	0	0
A Pickup	1	1	0	1	1	1.00	0	0.5	0
J McCall	1	0	0	0	0	N/A	1	0	0

Bowling

Surname	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
G Naim	217 .1	74	468	46	10.17	7/14	2.16	28.33
K Spencer	190 .4	53	449	43	10.44	6/19	2.35	26.60
J George	166 .5	42	467	43	10.86	7/18	2.80	23.28
J Hendry	187 .3	61	404	34	11.88	4/20	2.15	33.09
D Third	168 .1	36	505	34	14.85	6/39	3.00	29.68
S O'Shea	184 .3	43	558	31	18.00	6/50	3.02	35.71
M Harmer	180	43	466	30	15.53	5/26	2.59	36.00
A Magill	113 .3	19	371	26	14.27	8/35	3.27	26.19
B Fleet	134 .5	36	358	24	14.92	5/47	2.66	33.71
D Scott	180	70	331	23	14.39	4/27	1.84	46.96
D Gascolgne	130 .3	43	290	21	13.81	6/50	2.22	37.29
H Trevenen	153 .4	29	464	21	22.10	4/37	3.02	43.90
A Tyler	136	29	506	21	24.10	5/23	3.72	38.86
C Rickards	71 .1	28	102	20	5.10	7/40	1.43	21.35
C Prescott	144 .2	33	433	20	21.65	5/21	3.00	43.30
J Naim	118 .2	25	324	17	19.06	4/7	2.74	41.76
S Soeung	97	21	279	16	17.44	4/25	2.88	36.38
C Meuiler	125 .2	26	405	15	27.00	3/17	3.23	50.13
A McLevie	73 .5	11	181	14	12.93	4/43	2.45	31.64
B Chapman	166	32	523	14	37.36	2/33	3.15	71.14
S Henshall	73 .5	21	201	12	16.75	3/14	2.72	36.92
A Manjire	48	2	208	12	17.33	3/45	4,33	24.00
T D'Souza	101 .1	20	352	12	29.33	4/13	3.48	50.58
G Тегтіаса	56 .1	9	173	11	15.73	4/40	3.08	30.64
K de Jegur	74	23	200	11	18.18	2/19	2.70	40.36
D Hewitt	71 .2	15	186	9	20.67	3/23	2.61	47.56
D Вапу	51	16	67	8	8.38	3/14	1.31	38.25
M Kinch	44	7	110	5	22.00	4/30	2.50	52.80
P Smith	14	3	28	4	7.00	2/3	2.00	21.00
A Flynn	15 .3	2	74	4	18.50	2/1	4.77	23.25
S Shearing	4.4	2	9	3	3.00	3/5	1.93	9.33
K Dawson	11	0	46	3	15.33	3/9	4.18	22.00
G Sheppard	25	4	66	3	22.00	1/2	2.64	50.00
R Selkirk	34	3	153	3	51.00	1/28	4.50	68.00
G Partridge	38	7	166	3	55.33	1/19	4.37	76.00
F Fanayan	4	1	21	2	10.50	2/16	5.25	12.00
A Thomas	17	2	44	2	22.00	1/6	2.59	51.00
O Fanavan	14	4	46	2	23.00	2/44	3.29	42.00
S Paice	15	2	83	2	41.50	2/24	5.53	45.00
G Edmonds	30	4	92	2	46.00	2/21	3.07	90.00
G Hewitt	1	0	1	1	1.00	1/1	1.00	6.00
R Mark	2	0	4	1	4.00	1/4	2.00	12.00
G Davies	3	0	13	1	13.00	1/13	4.33	18.00
S Magill	5	Ó	15	1	15.00	1/5	3.00	30.00
S Jefferys	3	ō	18	1	18.00	1/11	6.00	18.00
D Berry	2	Ō	20	1	20.00	1/20	10.00	12.00
L Finch	6	1	26	1	26.00	1/12	4.33	36.00
i Pattison	11	1	41	1	41.00	1/13	3.73	66.00
J McCall	10	0	44	1	44.00	1/44	4.40	60.00

Season Bowling

Surname	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate	
R Budd	26	6	63	1	63.00	1/6	2.42	156.00	
J Harmer	21	3	70	1	70.00	1/38	3.33	126.00	
D Arcaro	14	1	91	1	91.00	1/45	6.50	84.00	
P Warren	2	0	5	0	N/A	0/5	2.50	N/A	
J Warren	1	0	9	0	N/A	0/9	9.00	N/A	
M O'Leary	6	2	11	0	N/A	0/2	1.83	N/A	
A Pickup	2	0	16	0	N/A	0/16	8.00	N/A	
P Forrester	3	0	22	0	N/A	0/22	7.33	N/A	
C Pritchard	4	0	23	0	N/A	0/8	5.75	N/A	
R Fernandez	7	1	24	0	N/A	0/4	3.43	N/A	
G Dart	5	0	27	0	N/A	0/4	5.40	N/A	
A Hoult	7	1	31	0	N/A	- 0/0	4.43	N/A	
T Reid	7	0	39	0	N/A	0/39	5.57	N/A	
D Rickards	8	1	52	0	N/A	0/24	6.50	N/A	

Batting a	nd Fielding	
-----------	-------------	--

Ca	re	er
-		

Surname	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O \$	Sixes
L Dungey	413	501	73	86	8410	19.65	162	25.5	55
B Hayward	307	351	28	107	6128	18.97	200/13	10.5	16
S Cairns	329	443	60	74	5404	14.11	118	5	7
A Hayward	234	259	28	114 *	4920	21.30	122/5	12	8
R Fernandez	204	219	23	101	4276	21.82	83	3	44
K Chapman	191	263	20	95	3575	14.71	63/1	1.5	0
G Sheppard	118	145	8	154	3458	25.24	32	1	46
Gr Dart	209	281	26	77 *	3398	13.33	106/18	1	0
M Harmer	184	208	30	98	3350	18.82	133/9	16.5	15
P Warren	129	157	13	96 *	2763	19.19	193/22	11	38
S Magill	166	195	28	111	2527	15.13	79	2	3
S Shearing	111	122	19	84	2477	24.05	41	2	8
A Magili	173	182	41	93	2402	17.04	88	22	54
D Rickards	86	98	5	117	2392	25.72	63	1.5	20
J Warren	89	103	11	120 *	2256	24.52	75	6.5	27
K Spencer	115	133	26	80	2246	20.99	55	3	50
G Davies	162	167	27	70	2116	15.11	199/11	11.5	7
J George	110	115	9	85	1916	18.08	54	6.5	22
D Berry	72	72	12	121 *	1886	31.43	81/8	8.5	17
P Smith	66	71	5	101 *	1563	23.68	45	2.5	15
K Dawson	86	94	6	98	1553	17.65	31	2	6
H Trevener	34	36	1	116	1367	39.06	32	1.5	5
G Hewitt	71	80	11	117	1182	17.13	27	0.5	2
G Naim	155	150	46	95	1155	11.11	64/1	9	4
S Paice	63	69	5	98	1142	17.84	47	4	2
D Arcaro	43	50	4	143	1114	24.22	23	1	13
A McLevie	54	64	4	83 *	1111	18.52	28	1	14
S Jefferys	57	63	8	120	1085	19.73	60/3	2.5	9
J Welsh	31	44	5	78 *	1018	26.10	19	0	12
J Hendry	36	45	2	140	833	19.37	21	3	23
G Edmonds	95	99	27	48	805	11.18	36	4.5	0
D Gascoigne	80	91	19	74	770	10.69	39	4.5	1
R Budd	32	39	ō	80	760	19.49	25	1.5	2
F Fanavan	28	32	2	117 *	759	25.30	18	3.5	9
C Rickards	62	61	17	72	738	16.77	15	2	11
C Pritchard	33	43	2	78	732	17.85	15	0.5	1
S Dawson	63	62	5	54	688	12.07	23	2	2
C Scott	40	45	7	63 *	673	17.71	49	5	4
A Thomas	28	37	4	117	579	17.55	20	1	5
D Third	22	26	3	62	552	24.00	11	1	3
T Chapman	30	32	2	79	547	18.23	27/1	3.5	0
G Terriaca	31	36	7	98	516	17.79	18	0.5	1
S O'Shea	55	52	13	29	509	13.05	10	1	6
D Barry	50	48	14	41	436	12.82	25	1	2
8 Bindon	45	51	6	34	433	9.62	42	6.5	0
O Fanayan	12	16	0	109	422	26.38	9/1	0	4
B Chapman	44	47	15	45	411	12.84	10	2	0
D Hewitt	18	24	1	71	377	16.39	4	0	1
Ge Dart	75	72	19	38 *	367	6.92	79/8	9	0
A Tyler	22	26	2	50 *	328	13.67	18/1	2	3
S Henshall	65	55	27	20	303	10.82	34	3	4
A Ligitorian	00	-					, ,		

Career

Batting and Fielding

Surname	Matches	Innings	Not Outs	H/Score	Runs	Average	Cat/St.	R/O	Sixes
M O'Leary	16	21	0	48	288	13.71	4	0,5	1
C Mueller	11	15	0	50	283	18.87	7	1.5	0
- G Partridge	42	48	16	28	264	8.25	16	2	0
C Prescott	23	26	16	71 *	258	25.80	3	1	2
J Dipema	14	17	3	54 *	242	17.29	25/1	1.5	1
D Scott	58	49	23	36	238	9.15	33	3	0
I Pattison	4	6	0	54	181	30.17	4	0.5	0
B Fleet	23	22	3	31	172	9.05	10	0.5	1
A Flynก	13	17	1	31	160	10.00	3	0	1
J Naim	23	27	9	41 *	145	8.06	4	2	0
T D'Souza	24	28	13	22 *	135	9.00	13	0.5	0
R Selkirk	5	6	0	55	132	22.00	1	0.5	0
M Kinch	8	7	2	33	98	19.60	2	Ð	0
K de Jagur	10	11	1	19	86	8.60	4	1	0
A Manjire	9	12	1	38 *	86	7.82	1	0	0
L Finch	9	12	1	22	84	7.64	3	0	0
C Radford	6	8	0	57	78	9.75	2	0	0
S Soeung	17	19	8	18	67	6.09	9	1.5	0
A Hoult	9	11	0	16	57	5.18	1	0.5	Q
P Forrester	10	13	3	14	48	4.80	10	0.5	0
J Harmer	5	6	2	24 *	39	9.75	1	0	0
K Trevenen	2	2	0	28	28	14.00	0	0	0
J Porter	3	3	0	7	12	4.00	1	0	0
T Reid	4	4	1	8	- 11	3.67	0	0	0
S Amott-Dungey	6	5	1	7 *	11	2.75	1	0	0
S Vickery	1	1	0	5	5	5.00	1	0	0
R Mark	6	5	1	4	5	1.25	2	0	0
A Pickup	1	1	0	1	1	1.00	0	0.5	0
J McCall	1	0	0	0	0	N/A	1	0	0

Career

Surname	Overs	Maldens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
G Naim *	2547 .2	758	6238	408	15.29	7/14	2.45	37.46
A Hayward *	2691 .5	599	6856	379	18.09	8/5	2.55	42.61
A Magill	2124 .2	549	5787	316	18.31	8/35	2.72	40.34
G Edmonds	1163	292 /	2945	223	13.21	6/56	2.53	31.29
K Spencer	1230	296	3411	221	15.43	6/19	2.77	33.39
J George	974 .2	249	2429	194	12.52	7/18	2.49	30.13
S O'Shea	845 .2	212	2688	191	14.07	7/38	3.18	26.55
C Rickards	842 .5	229	1971	148	13.32	7/40	2.34	34.17
D Gascoigne	892 .3	239	2300	146	15.75	7/19	2.58	36.68
D Scott	859 .2	267	1994	131	15.22	6/27	2.32	39.36
M Harmer	654 .3	169	1823	130	14.02	5/14	2.79	30.21
G Sheppard	653 .2	120	2197	123	17.86	6/72	3.36	31.87
S Henshall	690 .1	150	2047	117	17.50	5/20	2.97	35.39
D Barry	668	156	1868	99	18.87	5/27	2.80	40.48
S Shearing	532	98	1571	93	16.89	6/45	2.95	34.32
J Hendry	501 .2	143	1353	83	16.30	6/46	2.70	36.24
B Hayward *	253 .7	37	891	63	14.14	6/19	. 3.51	24.21
B Chapman	526 .1	120	1614	63	25.62	4/35	3.07	50.11
G Hewitt	430	97	1269	60	21.15	6/29	2.95	43.00
A McLevie	366 .1	68	1095	59	18.56	5/48	2.99	37.24
K Chapman *	294 .2	39	1080	57	18.95	6/64	3.67	30.98
H Trevenen	377 .2	81	1022	56	18,25	5/21	2.71	40.43
D Third	247	52	788	47	16.77	7/31	3.19	31.53
J Warren	268	58	835	47	17.77	4/28	3.12	34.21
L Dungey *	165 .3	12	668	40	16.70	4/11	4.04	24.83
B Fleet	272 .5	69	687	40	17.18	5/47	2.52	40.93
A Tyler	248	59	842	37	22.76	5/17	3.40	40.22
P Smith	331 .1	74	843	37	22.78	3/21	2.55	53.70
R Fernandez	260 .5	40	855	33	25.91	4/40	3.28	47.42
T D'Souza	243 .5	53	756	31	24.39	4/13	3.10	47.19
S Soeung	194	54	532	29	18.34	4/25	2.74	40.14
S Magili	170	18	582	27	21.56	5/28	3.42	37.78
C Prescott	190 .2	41	544	26	20.92	5/21	2.86	43.92
Gr Dart *	93 .5	8	548	23	23.83	3/8	5.84	24.48
G Terriaca	124 .1	10	577	23	25.09	4/40	4.65	32.39
A Thomas	131	20	493	19	25.95	4/54	3.76	41.37
D Hewitt	102 .2	18	326	17	19.18	3/21	3.19	36.12
J Naim	125 .2	25	368	17	21.65	4/7	2.94	44.24
G Partridge	135 .1	22	525	17	30.88	2/12	3.88	47.71
C Scott	72 .4	19	247	15	16.47	4/11	3.40	29.07
C Meutler	125 .2	26	405	15	27.00	3/17	3.23	50.13
D Arcaro	135 .4	28	504	15	33.60	5/69	3.71	54.27
B Bindon	85 .3	14	264	14	18.86	3/25	3.09	36.64
A Manjire	48	2	208	12	17.33	3/45	4.33	24.00
K Dawson	60 .3	9	199	11	18.09	3/9	3.29	33.00
K de Jagur	74	23	200	11	18.18	2/19	2.70	40.36
S Paice	61	8	264	9	29.33	2/12	4.33	40.67
D Rickards	44 .3	5	248	8	31.00	2/56	5.57	33.38
G Davies	63	8	268	8	33.50	2/8	4.25	47.25

								18
Surname	Overs	Maidens	Runs	Wickets	Average	B/Bowling	E/Rate	S/Rate
S Dawson	87	7	369	8	46.13	1/0	4.24	65.25
J Welsh	37	7	120	7	17.14	2/8	3.24	31.71
* M O'Leary	17	2	64	5	12.80	3/29	3.76	20.40
M Kinch	44	7	110	5	22.00	4/30	2.50	52.80
F Fanayan	7 .2	1	36	4	9.00	2/16	4.91	11.00
S Calms *	16 .3	3	68	4	17.00	2/22	4.12	24.75
A Flynn	15 .3	2	74	4	18.50	2/1	4.77	23.25
R Selkirk	34	3	153	3	51.00	1/28	4.50	68.00
R Budd	46	8	170	3	56.67	1/6	3.70	92.00
O Fanayan	14	4	46	2	23.00	2/44	3.29	42.00
D Berry	9	0	49	2	24.50	1/7	5.44	27.00
Ge Dart	13	O	51	2	25.50	1/1	3.92	39.00
T Chapman	19	1	81	2	40.50	1/19	4.26	57.00
S Jefferys	14	1	90	2	45.00	1/11	6.43	42.00
R Mark	2	0	4	1	4.00	1/4	2.00	12.00
L Finch	6	1	26	1	26.00	1/12	4.33	36.00
I Pattison	11	1	41	1	41.00	1/13	3.73	66.00
J McCall	10	0	44	1	44.00	1/44	4.40	60.00
C Pritchard	9	1	47	1	47.00	1/5	5.22	54.00
J Harmer	21	3	70	1	70.00	1/38	3.33	126.00
A Pickup	2	0	16	0	N/A	0/16	8.00	N/A
P Forrester	3	0	22	0	N/A	0/22	7.33	N/A
A Hoult	7	1	31	0	N/A	0/0	4.43	N/A
T Reid	7	0	39	0	N/A	0/39	5.57	N/A
P Warren	9	0	45	0	N/A	0/2	5.00	N/A

^{*} Players marked as such played when 8 ball overs were used, so the Strike rate and Economy rate may not be correct.

Milestones

Achieved 2003/04

Achievable 2004/05

Achieved	2003/04			ACINOVAL	18 200-100		
Career	R Femandez	200	Games	Career	G Edmonds		Games
	G Naim	150	Games		J Warren		Games
	J George	100	Games		B Bindon		Games
	A McLevie	50	Games		B Chapman		Games
	D Barry	50	Games		G Partridge		Games
	D Scott	50	Games		C Scott	50	Games
	\$ O'Shea	50	Games				
	S Jefferys	50	Games		P Warren	3000	Runs
	-				J George	2000	Runs
	G Davies	2000	Runs		D Berry	2000	Runs
	K Spencer	2000	Runs		J Hendry	1000	Runs
	D Rickards	2000	Runs		G Edmonds	1000	Runs
	A McLevie	1000	Runs		D Gascoigne	1000	Runs
	H Trevenen	1000	Runs		R Budd	1000	Runs
	S Paice	1000	Runs		F Fanayan	1000	Runs
	J Welsh	1000	Runs		C Pritchard	1000	Runs
	G Naim	400	Wickets		J George	200	Wickets
	A Magill	300	Wickets		\$ O'Shea	200	Wickets
	K Spencer	200	Wickets		D Barry		Wickets
	•				S Shearing		Wickets
	D Rickards	50	Catches		J Hendry	100	Wicket
A Grade	S Shearing	100	Games		G Davies		Catche
	•				P Warren		Catche
	M Harmer	1000	Runs		D Berry		Catche
	H Trevenen	1000	Runs		Ge Dart	100	Catche
B Grade	S Magill	100	Games				
	M Harmer	2000	Runs				
	M Harmer	100	Wickets				
C Grade	D Scott		Wickets				
	J George	100	Wickets				
D Grade	D Gascoigne	50	Games				

Ladders and Players of the Round

GRADE 1	POINTS	GRADE 3	POINTS	GRADE 5	POINTS
High Wycombe	116.18	Whitfords	113.14	Bentley	110.40
Applecross	112.49	Wem. Districts	94.91	Applecross	110.38
Wem. Districts	105.39	Subiaco Marist	89.50	Wern, Districts	102.22
Bedford/Morley	95.69	Applecross	88.98	High Wycombe	100.13
Whitfords	91.51	Bedford/Morley	85.72	Whitfords	88.07
Balcatta	87.96	High Wycombe	79.90	Subject Marist	81.80
Subiaco Marist	82.16	Bentley	77.12	Bassendsan	67.85
Bentley	81.16	Doubleview	75.91	Bedford Morley	85.17
Doubleview	74.68	Balcatta	72.93	Doubleview	63.42
Bessendean	71.68	Bassendean	71.74	Tuart Hill	59.14
South Perth	70.26	Tuart Hill	67.25	Bulcatta	57.25
Tuart Hill	56.70	South Perth	65.80	South Perth	47.20
GRADE 7	POINTS	GRADE 8	POINTS		
Bentley	107.21	Whitfords	118.50		
Whitfords	103.66	Balcatta	114.08		
Doubleview	97.53	Melville	105.99		
Wern. Districts	97.03	Wem. Districts	98.81		
Applecross	94.93	Ocean Ridge	95.30		
Bedford/Morley	70.47	Sublaco Marist	86.55		
Melville	68.23	Bentley	66.92		
Balcatta	58.41	Bassendean	63.68		
Sublaco Marist	58.21				
Tuart Hill	43.11				
Curtin/Vic. Park	33.14				

Survey Graphics Player of the Round

Round 1	Darren Third		
Round 2	Greg Nalm		
Round 3	Gred Naim		
Round 4	Damian Rickards		
Round 5	Jamie George		
Round 6	Hudson Trevenen		
Round 7	Hudson Trevenen		
Round 8	Darren Third		
Round 9	Cralg Rickards		
Round 10	Anthony Magill		
Round 11	Shaun O'Shea		